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Q.No.1:- In how many ways can 5 boys and 5 girls sit in a row? 

(a) if there is no restriction? 

________________________________________________________________________________ 

________________________________________________________________________________

________________________________________________________________________________ 

________________________________________________________________________________ 

(b) if only the boys must sit together? 

________________________________________________________________________________ 

________________________________________________________________________________

________________________________________________________________________________ 

________________________________________________________________________________ 

(c) if no two people of the same sex are allowed to sit together? 

________________________________________________________________________________ 

________________________________________________________________________________

________________________________________________________________________________ 

________________________________________________________________________________ 

Q.No.2:- In Q.No.1, What is the probability that the boys are seated next to each other? 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________

________________________________________________________________________________ 

________________________________________________________________________________ 



Q.No.3:- Seven balls are randomly withdrawn from an urn that contains 12 red, 16 blue, and 18 green balls. 

Find the probability that: 

(a) exactly 3 red and 2 blue balls are withdrawn. 

 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

 

(b) at least 2 red balls are withdrawn. 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

(c) at most 1 red ball is withdrawn. 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

(d) all withdrawn balls are the same color. 

 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

(e) either exactly 3 red balls or exactly 3 blue balls are withdrawn. 

 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

 

 



Q.No.4:-  

(a) If 𝑃(𝐴 | 𝐵) = 1 the find 𝑃(𝐵𝑐  | 𝐴𝑐) 

 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

(b) Prove or disprove that if 𝑃(𝐴) = 0.6 and 𝑃(𝐵) = 0.5, then 𝐴 and 𝐵 are mutually exclusive. 

 

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________

________________________________________________________________________________ 

________________________________________________________________________________ 

________________________________________________________________________________ 

 


